
INSTALLATION GUIDE
Evo x heat sheild

Tools Required:
-10mm socket 
-14mm socket (3/8ths)
-3/8ths ratchet

WHat’s in the box:
2x MAP Stainless Heat Shields
4x m6 clip nuts
4x m6 10mm head stainless flange bolts
1x M8 stainless flange locking nut
2x M6 8mm head washer bolts

1. Remove strut bar by removing 6 14mm
 nuts and 2 14mm bolts 

2. Remove factory heat shield by removing 3 
10mm bolts and sliding heat shield out

1



3. Put MAP heat shield together by using included hardware (10mm bolts and clip 
nuts) to attach both pieces of the map heatshield together

4. Slide assembled heat shield past 
manifold and onto the exposed studs on 
the firewall to hold it in place

2

5. Install nuts and bolts included (2 
nuts 2 bolts) as pictured 

Currently, we have tested assembling this out of the car and then putting it in the car with the factory manifold, MAP 
investment manifold, and a few tubular stock frame manifolds. You may have to assemble heat shield in 2 pieces inside the 

engine bay if you cannot fit it past your manifold runners.



6. Reinstall Strut Bar

3

THank you for choosing maperformance!

If you have any problems or concerns during installation of this product, feel free to call or email us: 

1-888-MAPERFORMANCE
ajohnson@maperformance.com

Show us some photos! @maperformance / #maperformance


